Run 4366 quartetwise, posHO: Beam ON
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Mean: 7.4291 +/- 0.0011
Std Dev: 0.2452 +/- 0.0008

Run 4366 quartetwise, diff0: Beam ON
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Mean: 0.0009 +/- 0.0011
Std Dev: 0.2545 +/- 0.0008
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Run 4366 quartetwise, asym0: Beam ON
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Entries: 53140
Mean: 0.0001 +/- 0.0001
Std Dev: 0.0171 +/- 0.0001
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Run 4366 quartetwise, negHO: Beam ON
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Entries: 53140
Mean: 7.4282 +/- 0.0011
Std Dev: 0.2463 +/- 0.0008

Run 4366 quartetwise, summO: Beam ON
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Entries: 53140
Mean: 14.8573 +/- 0.0018
Std Dev: 0.4206 +/- 0.0013
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Positive Hel (ON): 9.825247 +/- 0.000770
Negative Hel (ON): 9.755833 +/- 0.000767
Positive Hel (OFF): 7.429087 +/- 0.001064
Negative Hel (OFF): 7.428202 +/- 0.001069

On Diff: 0.069414 +/- 0.000841
Off Diff: 0.000885 +/- 0.001104
On Sum: 19.581080 +/- 0.001287

On Asym: 0.003545 +/- 0.000043
Off Asym: 0.000060 +/- 0.000074

Back Sub Diff: 0.068528 +/- 0.001388
Back Sub Sum: 4.723790 +/- 0.002232
Back Sub Asym: 0.014507 +/- 0.000294
--------Polarization--------
Polarization: 87.607655 +/- 1.774744 (2.025787%)
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